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15 0.6% 1.5=0.9)

X Y
Is Is
PH3 1.33 0.61
PH2 0.55 0.88
PH1 2.25 1.30
5F 0.36 0.34
2 5 4F 0.48 0.36
3F 0.39 0.30
2F 0.41 0.30
1F 0.46 0.43
B1F 0.50 0.43
2F 0.96 0.71
1F 0.25 0.65
4 B1F 0.38 0.46
B2F 0.35 0.44
4F 0.41 1.18
3F 0.61 0.75
4 2F 0.51 0.53
1F 0.38 0.59
4F 0.50 0.38
3F 0.39 0.36
2F 0.36 0.28
2 4 1F 0.15 0.30
B1F 0.26 0.26
B2F 0.35 0.19
]
Is
1.25 0.6x 1.25=0.75)
Is
X Y
Is Is
6F 0.73 2.39
5F 1.59 1.06
4F 0.80 0.91
3F 0.65 0.85
6 2F 0.58 0.96
1F 0.55 0.69
7F 1.64 2.46
6F 1.00 141
5F 0.91 0.85
4F 0.74 0.94
2 3F 1.04 135
2F 1.28 1.21
1F 1.15 0.91
B1F - -
B2F - -




